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Transistor Name WI/L
M1 4 pym/0.25 um
M2 X pm/025 pm
Q1 ¢ PMOS 25 um/0.25 pm
Q1 ¢ NMOS 1 pum/0.25 um
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[2](20 &) T}~ Monostable Multivibrator 3] 20|t} 5V ] Vp, oA 523}l gate £2] logic threshold & 2.5V ©] U},
GND = 0V & ZF3tt) 7} d&dxol = 2 702] diode 2 T4 % ESD protection 3] 27} A A% o] Ut} Diode 2
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[3]1(25 %) '} CMOS 325 W
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TE PMOS 2] body £ Vpp =500, NMOS €] body £ GND ==0] dZ= o] glom Vy,=25V,GND=0V °|t}.
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1) CMOS inverter 2] Wn = lum, Wp = 4um & w], A, B, C :==0f] @3 Z capacitance & Z}ZF T3}l tpy, tpur
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s olF | A #k
Cox MOS €] oxide capacitance 0.6 puF/cm’
Cos0v=Codov MOS 2] gate-source(or drain) overlap capacitance 0.25 fF/um xXW
Cod MOS 9] gate-drain capacitance 0.25 fF/um>XW
Cab MOS 9] drain-body(bulk) capacitance 0.5 fF/um>xXW
Ky’ kp’ K'= pnCox ko’ = 120 pA/V?
k= pCox k,” =30 pA/V?
Cw Wire capacitance 10 fF
L MOS 2] channel length 0.25 um
W MOS 2] channel width Design Parameter
Vit MOS 9] threshold voltage 0.5V
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[5] (15 %) o}z 163} 712 Astable Multivibrator 3] Z2] 3l
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